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1. The constant term in polynomial(—3e—7)is

(i) -10 (i) -6 (iii) -7 (iv) -4 (v) -8

2. The coefficient of termj2 in polynomial(—3j2 —-3j+1)is

(i) -2 (i) -3 (iii) O (iv) -4 (v) -6

3. The coefficient of term/in polynomial(—7/3 +4/2 —4/+7)is

(i) -4 (i) -5 (i) -7 (iv) -1 (v) -3

4. The constant term in polynomial(—9/4—/3+2/2 —-6/—-1)is

(i) 0 (ii) -2 (i) 2 (iv) -3 (v) -1

5. Which of the following algebraic expressions is a monomial?

(i) (7e*=3e2+2) (ii) (=9e3) (iii) (8e2—4) (iv) (4e*—e3+8e2+4e-3) (v) (-3e*—2e3+6e2—4e-2)

6. Which of the following algebraic expressions is a binomial?

(i) (-35%+7s3+8) (i) (25%-453+952—65-7) (iii) (45%—-85) (iv) 25 (v) (—s?—-653+552—75-2)

7. Which of the following algebraic expressions is a trinomial?

(i) (=7a%+3) (i) (a*+5a+5) (iii) (5a%+5a3+4a2-2a-3) (iv) a (v) (8a%*-3a3-72%2+8a-9)

8. Which of the following algebraic expressions is a constant polynomial?

() (—=4P—=872) (i) (=2) (i) (=34—=43-8/) (iv) (=7/2) (v) (=*—8P+42+5/+8)

9. Which of the following algebraic expressions is a zero polynomial?

(i) (62 =7) (i) (=r*=52+r~2=3r+8) (i) (6r*+53+6r) (iv) 0 (v) 9,2

10. The constant term in polynomial (3st—5s5—-2¢—7)is

(i) -8 (ii) -7 (iii) -9 (iv) -6 (v) -5

11. The coefficient of term din polynomial(—7cd2 +9c—442 —84d)is

(i) -9 (i) -7 (i) -6 (iv) -8 (v) -11

12. The coefficient of term /m?2 in polynomial(—6/m2 n?—6/m%n—71m?%+21n%+9m? n2) is

(i) -5 (i) -6 (iii) -7 (iv) -10 (v) -8
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The coefficient of term A/jin polynomial (8 A3 3j+6 3 i2 — 2 B3 —8h2 13— hi3 +9hij—3,3) is

(i) 7 (i) 8 (iii) 9 (iv) 10 (v) 11

Which of the following algebraic expressions is a monomial?

(i) (—5x3y22—3x2y222—5x2y22—2y) (ii) (6x22+2y (iii) xy222+9z +322 —5x3y23)

(v) (9x2y223 +)(2yzz2 —6xy32+7y)

Which of the following algebraic expressions is a binomial?

(i) (802—50p2g—-8p3g2—5p) (i) (~903pq) (i) (—302p2g-90p%q—T7q) (V) (-p3—p2g3)

(v) (803p2q?—303pg+60p>+89)

Which of the following algebraic expressions is a trinomial?

(i) (—6t3v2+2t2u3—4tu3v3—9tu2) (ii) 513u v— 9t2v 5tu v— 7u v) (iii) (13U3V3—4l'2U3V+8V)

(iv) (—6tu2v2) (v) (4833 V2 +780%V3)

Which of the following algebraic expressions is a constant polynomial?

(i) (=3w3x)3) (i) (—4wPx3 28wl xS y+awxy+4) (i) 2 (iv) (4w xX2y+2wx—6x3y)
(v) (9w?x?y—-8w?)

Which of the following algebraic expressions is a zero polynomial?

(i) 0 (ii) 7x3y223+x3y2+4xzy22) (iii) 4)(3)/222 (iv) 22+523)

(v) (8xy3+5xy223—6xz+82)

Which of the following is a factor of21x3y322 ?

(i) 21x2y323 4y3 (iii) 21)(2}/4 (iv) 21)(2}/3 (v) 21X3y3z3

Which of the following is not a factor of25)(3yz4 ?

(i) xyz3 (ii) x3yz3 (iii) x2y24 (iv) x3z4 (v) X3y225

Which of the following is an irreducible factor of17x5y524 ?

(i) x°yA22 (i) X°y (i) y*z (v) x (v) xZ2



Assignment Key

1) (iii) 2) (ii) 3) (i) 4) (v) 5) (ii) 6) (iii)
7) (ii) 8) (ii) 9) (iv) 10) (ii) 11) (iv) 12) (iii)
13) (iii) 14) (iv) 15) (iv) 16) (iii) 17) (iii) 18) (i)
19) (iv) 20) (v) 21) (iv)
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